Munkedals BS
Partavling HCP O Scratch-ber 2021-10-20

Partavling, 7 bord, 14 par. Antal brickor: 26. Medel: 156.0.

Plac Par Poéng % Namn MID Klubb
1 1 191.0 61.20 Bo Hedén - Nils-Ake Johansson 7553 7479 Uddevalla BF - Munkedals BS
2 10 169.1 54.21 Ulla Alm - Kenth Karlsson 41238 41239 Munkedals BS
3 14 163.7 52.46 Mona Andersson - Lars Johansson 7542 50647 Tanums BK
4 3 1615 51.77 Yvonne Karlsson - Peder Olsson 46058 46062 Hunnebostrand-Kungshamns BK
5 4 161.0 51.60 Eva Andersson - Tommy Edvarsson 16716 46048 Hunnebostrand-Kungshamns BK
6 6 158.7 50.87 Tommy Svensson - Stefan Hansson 7520 2761 Hunnebostrand-Kungshamns BK
7 9 156.4 50.11 Anders Dellien - Roger Nyman 7117 7522 Tjorns BK - Hunnebostrand-Kungshamns BK
8 5 156.2 50.07 Jonny Grenander - Jan-Erik Olsson 12357 15178 Munkedals BS
9 12 1539 49.33 Gunnel Olsson - Thomas Christianson 39977 64222 Hunnebostrand-Kungshamns BK - Tanums BK
10 11 152.0 48.71 Ove Alexandersson - Bo-Peter Bergman 10966 10967 Hunnebostrand-Kungshamns BK
11 13 1459 46.77 Sune Gustafsson - Rose-Marie Antonsson 88664 88657 Stromstads BK
12 8 144.0 46.15 Lennart Johansson - Johan Wedeen 13145 1166 Tjorns BK
13 2 137.7 44.14 Berit Nyhagen - Rolf Svensson 29462 33584 Hunnebostrand-Kungshamns BK
14 7 1329 4259 Claes Hedlund - Lisbeth Hedlund 49265 49264 Munkedals BS
1 4974 2 462 3 + K96
Nord vK Ost v 109653 Syd vED764
Ingen 49873 NS 41085 ov + 87
#KKn943 #1065 #EKD
& EKn52 41063 4103 » EKKn854 o E 41075
vD107654 v EKn832 vE87 va v Kn5 v 832
¢4 ¢52 ¢ EKn2 + KD4 ¢+ EK10642 ¢ D5
»D6 #E102 #DKn987 #K32 2Kn742 #109653
~KD8 « D97 4 DKn8432
v9 v KDKn2 v K109
¢+ EKDKN106 49763 ¢ Kn93
#875 *E4 L 1]
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 13 4¢ S-1 a5 -50 120 00|14 1 3NV= vT -400 120 00| 8 5 44 S= +K 420 10.0 2.0
6 10 5¢ S-2 vQ -100 9.0 30| 3 2 44 0+1 &A -450 50 7.0|13 6 44 S= ¢ A 420 10.0 2.0
9 11 5¢ S-2 v7 -100 9.0 30| 6 10 44 O+1 ¥vK -450 50 7.0[14 2 4v N= +Q 420 100 2.0
3 2 4v0= ¢ A -420 40 80| 7 4 44 0+1 92 -450 50 7.0| 4 3 44S-1 ¢ A -50 3.0 90
7 4 4y V= +3 -420 40 80| 8 13 44 0+1 +¢Q -450 50 7.0| 7 11 44 S-1 ¢ A -50 3.0 90
12 5 4v V= +9 -420 40 80| 9 11 44 O+1 +Q -450 50 7.0 9 1 445S-1 ¢ A -50 3.0 90
14 1 5¢DS-3 +¥5 -500 0.0 12.0|12 5 44 O+1 #A -450 50 7.0{10 12 4v N-1 +Q -50 3.0 90
4 4 D973 5 4 K8 6 « EK64
Vast v K64 Nord vKn1063 Ost v K104
Alla 4976 NS ¢ Kn2 ov ¢ DKn7
#1043 #EKn1052 #942
a2 4 Kn854 4Knl1075 & D6432 a5 4 Kn7
vEDKn9 1087532 v 9742 v K5 v53 vED6
¢+ DKn105 ¢ E2 ¢ 853 ¢ E7 498654 ¢ E1032
#K982 *E *74 «KD86 #ED876 #K1053
« EK106 4 E9 « D109832
v- v ED8 v Kn9872
+ K843 + KD10964 *+K
#DKn765 #93 #Kn
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 11 2v O+3 4A -200 120 00| 1 7 3NN+3 a2 690 11.0 10| 8 12 34 S+1 »A 170 12.0 0.0
4 3 4v 0= 4K -620 9.0 3.0| 8 12 3NS+3 aJ 690 11.0 10| 1 7 24 S+1 *A 140 9.0 3.0
14 2 4vO= aA -620 90 30| 9 6 4vyN= *K 620 80 40|10 2 34S= v5 140 9.0 3.0
10 12 4v O+1 &A -650 50 7.0| 5 4 2¢ S+4 a) 170 40 80|11 13 5¢ O-1 *] 100 6.0 6.0
13 6 4vO+1 &K -650 50 7.0|11 13 4¢ S+2 aJ 170 40 80|14 3 44 S-1 A -50 40 8.0
8 5 4vDO+1 &K -990 20 100|214 3 3v N+1 &K 170 40 80| 5 4 54S-2 *A -100 1.0 110
9 1 44DN-4 &A -1100 0.0 12.0{10 2 24 O= vA -110 0.0 12.0| 9 6 44 S-2 v5 -100 1.0 110
7 « EKKn953 8 « EKKNn105 9 «1084
Syd v K108 Vast v6 Nord vED4
Alla +9 Ingen ¢ KD843 ov + K108
#543 *74 #EDKn3
46 4 D102 498 4« D76 4 K63 4 Kn72
vE643 vDKn9 vKD932 vKn108 vKKn865 v97
¢ E653 410872 +6 ¢ E972 493 ¢+ E754
#10986 #EK7 #K9632 #DKn5 »K82 #9765
4874 4432 4 ED95
v 752 vE754 v 1032
¢ KDKn4 ¢ Kn105 ¢ DKn62
#DKn2 #E108 £104
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 7 24 N= *A 110 110 10| 2 8 44 N= v8 420 11.0 1.0(10 1 3NN+2 a2 460 11.0 1.0
11 3 24 N= *A 110 11.0 10|14 4 44 N= L) 420 11.0 10|11 8 3NN+2 &7 460 11.0 1.0
12 1 24 N-1 *A -100 8.0 4.0| 9 13 34 N+1 vT 170 50 7.0{12 4 3NN+1 ¢+ 4 430 7.0 5.0
2 8 34N-2 &K -200 3.0 9.0{10 7 34 N+1 vJ 170 50 7.0|14 5 3NN+1 v9 430 70 50
6 5 34 N-2 *K -200 3.0 9.0|11 3 24 N+2 2 170 50 7.0[13 2 3NN= v9 400 40 8.0
9 13 44 N-2 vQ -200 3.0 9.0{12 1 34 N+1 vl] 170 50 7.0 7 6 2NN-1 v9 -50 2.0 10.0
14 4 44 N-2 &K -200 30 90| 6 5 5¢ N-2 vT -100 0.0 120 3 9 3NN-2 v7 -100 0.0 12.0
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10 #8642 11  K10754 12 #1087
Ost vE103 Syd vKnl0 Vast v EKDKn7
Alla ¢ E85 Ingen ¢ DKn NS ¢+ EK
#D53 #EK109 D64
4 KKn107 4E9 4 D9832 4E6 4 KD952 #E6
v74 v KKn986 vE8 v K965 v 105 v 942
493 + KDKn7 ¢ K84 4952 ¢ Kn543 ¢ 62
#E10987 #62 #643 #DKn52 #E10 #K98732
« D53 4 Kn 4« Kn43
v D52 vD7432 v 863
¢ 10642 + E10763 + D10987
&#KKn4 87 &Kn5
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 8 3NV-1 ¢+5 100 120 00| 4 10 INS+2 a2 150 11.0 10| 8 7 1lv N+1 aA 110 120 0.0
14 5 2NV= v3 -120 100 20| 8 7 INS+2 48 150 110 10| 4 10 1v N= 4 A 80 9.0 3.0
3 9 2v0+1 &4 -140 50 7.0|11 2 INS+1 a2 120 80 40|11 2 1v N= 6 80 9.0 3.0
7 6 2v0+1 &4 -140 50 7.0|14 6 2vS= »3 110 6.0 6.0|/12 9 24 V-1 vA 50 6.0 6.0
10 1 3vO= &4 -140 50 70| 1 3 INS-1 LY -50 40 80| 1 3 3vN-1 4 A -100 40 8.0
12 4 29 0O+1 %4 -140 50 7.0|12 9 2NN-2 »2 -100 1.0 11.0|14 6 3v N-2 aA -200 2.0 10.0
13 2 3NV+1 &5 -630 0.0 12.0|13 5 3vS-2 49 -100 10 11013 5 4vy N-4 s A -400 0.0 12.0
13 4108743 14 #1097 15 « EKn83
Nord v 972 Ost v Kn654 Syd v Kn1092
Alla ¢+ Kn Ingen 4976 NS ¢ 974
#EK93 &E85 *Kn3
4 ED96 4 KKn2 43 4 KD8654 454 & KD10972
vEK10 vKn853 v 983 vD v K87 v54
+K92 ¢E743 4 K843 ¢ EDKn5 ¢ KKn105 ¢6
#Kn86 #D2 #K6432 #D7 #KD86 #E1095
45 « EKn2 46
v D64 v EK1072 vED63
+ D10865 ¢ 102 + ED832
#10754 #Kn109 742
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 10 INV+2 48 -150 120 00| 9 8 44DO-2 vK 300 120 00| 1 11 34 O= vA -140 10.0 2.0
2 4 3NV= A -600 100 20| 5 11 3v S= 43 140 100 20|10 9 34 0= vA -140 100 2.0
1 6 3NV+1 SA -630 60 60| 2 4 340-1 vA 50 6.0 6.0|/14 8 24 O+1 v3 -140 100 2.0
9 8 3NO+1 +6 -630 6.0 6.0(12 3 340-1 vA 50 6.0 6.0| 6 12 24 O+2 43 -170 6.0 6.0
14 7 3NV+1 a4 -630 6.0 6.0/13 10 34 O-1 vK 50 60 6.0 2 7 3vN-2 +6 -200 3.0 9.0
5 11 3NV +2 &9 -660 20 10.0|14 7 4vS-1 43 -50 20 100| 3 5 4v N- +6 -200 3.0 90
12 3 24DN-3 £Q -800 00 120| 1 6 3¢ O= vA -110 0.0 12.0|13 4 44 0O= vA -420 0.0 12.0
16 «ED108 17 « E962 18 « KDKn3
Vast v DKn2 Nord vD8 Ost v53
oV ¢ E973 Ingen +10 NS + DKn982
%98 £D98653 £K8
4 K93 aKn764 4 Knl10843 #KD 294 4752
vK943 v75 v K104 v Kn965 v EKn86 v 10942
¢+ K42 4106 ¢ E5 + KKn9642 + 10 ¢ E743
&#E62 #D7543 #Kn107 *2 #E107652 #93
452 475 « E1086
v E1086 vE732 vKD7
¢ DKn85 + D873 + K65
#KKn10 &EK4 &DKn4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 4 3NS+2 v3 460 120 00| 1 5 3NS= a4 400 120 00| 1 5 3NS+1 *A 630 120 0.0
6 12 3NS+1 v3 430 100 2.0(11 10 3« N+1 &K 130 100 20| 2 12 44 S= &A 620 9.0 3.0
3 5 1vV-3 &8 300 80 40| 2 12 INS+1 48 120 60 6.0 4 6 44 S= *T 620 9.0 3.0
2 7 INS+4 v3 210 6.0 6.0 3 8 INS+1 a4 120 6.0 6.0|14 9 24 N+2 v9 170 6.0 6.0
1 11 INS+3 43 180 40 80| 7 13 INS+1 43 120 6.0 6.0 3 8 44 N-1 *9 -100 2.0 10.0
14 8 INS+2 v3 150 20 100 4 6 2¢0O-1 &K 50 20 10.0| 7 13 44 S-1 *T -100 2.0 10.0
10 9 2vS= v3 110 00 12.0|14 9 5vDS-4 +A -800 0.0 12.0|11 10 44 S-1 *T -100 2.0 10.0
19 + K10732 20 4 Kn 21 410953
Syd v10 Vast v D972 Nord vE1084
oV ¢ ED3 Alla + ED865 NS ¢ 853
#10532 #DKn8 D8
4Kn84  4D6 a4 « ED9873 « KD8 & Kn42
vEKD54 ¥ Kn983 v K853 vKn vK75 vD9632
+ K + 87654 ¢ 1094 ¢+ Kn732 ¢+ Kn9764 +E
#EKN96 &K4 2107432 #E5 93 #K642
« E95 # K10652 « E76
v 762 v E1064 vKn
¢ Kn1092 + K + KD102
D87 #K96 #EKn1075
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 9 3vV+l &5 -170 11.0 10| 3 13 34DO-4 +K 1100 120 00| 9 2 3NN+1 v2 630 12.0 0.0
5 7 3vV+1l a3 -170 110 10| 5 7 4v N= A 620 90 30| 6 8 INS+1 +6 120 100 2.0
2 6 4v V= a2 -620 50 7.0|14 10 4v N= A 620 90 30| 3 7 2¢S= 8 90 6.0 6.0
3 13 4v V= a2 -620 50 7.0| 4 9 3NS= &7 600 6.0 6.0|13 12 2¢ S= *9 90 6.0 6.0
8 1 4v V= 43 -620 50 7.0[12 11 2¢ S+1 v5 110 40 80|14 11 2¢ S= a K 90 6.0 6.0
12 11 4v V= vT -620 50 70| 8 1 140-1 ¢+ K 100 20 10.0| 5 10 3vO-1 +Q 50 2.0 10.0
14 10 5v V= &5 -650 0.0 120| 2 6 14 0= ¢+ K -80 0.0 120| 4 1 34 N-3 ¢ A -300 0.0 12.0
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« E8764 K762 +« EKn64
vE v K5 vD76
¢ Kn53 ¢ E543 ¢ Kn7432
#E643 642 &9
4 K109 & Kn532 # EDKn954 4103 &« K7
vK1096 D872 v 742 v 109863 vKnl10954 vK3
¢+D + E98 ¢ DKn2 + 1076 + KD98
#K10875 #D9 *7 #1083 #E8732
«D 48 «D1052
v Kn543 v EDKn vE82
+ K107642 + K98 +10
&Kn2 #EKDKN95 #DKn654
Kontr ut Res Poang Kontr Ut Res Ut Res g
2NS = 8 120 120 0.0 6N N = T 1440 120 0.0 a2 100 . 0.0
2¢ S= ¢+ Q 90 100 2.0 6% S = &7 1370 10.0 2.0 a5 50 8.0 4.0
1a N= v2 80 8.0 4.0 3NN +3 aT 690 70 5.0 &4 50 8.0 4.0
4¢ S-1 8 -50 6.0 6.0 3NN +3 aT 690 70 50 v8 50 8.0 4.0
INS-2 »8 -100 40 8.0 3N S +2 a5 660 40 8.0 a2 -90 40 8.0
2v V= aA -110 2.0 10.0 5& S +1 aA 620 2.0 10.0 a2 -120 2.0 10.0
34DN-2 #Q -300 0.0 12.0 3% S+2 v4 150 0.0 12.0 *6 -240 0.0 12.0
4« DKn7 452
v 943 v EG3
+ K84 + D95
#8752 #Kn10843
4 EKG54 482 4 Kn764 4D98
v10 v EDKn8762 vK108 vKn2
+ D6 + E105 ¢ EKn7 ¢ K86432
#KD963 #10 #975 #D6
#1093 « EK103
v K5 vD9754
¢ Kn9732 + 10
#EKn4 SEK2
Kontr Ut Res Poang Kontr Ut Res g
6 3 4v0-1 ¢7 100 11.0 1.0 4v S +2 *9 680 120 0.0
1 46v0-1 A 100 11.0 1.0 4v S +1 a4 650 100 2.0
8 10 4v O = +3 -620 70 50 4v S= v8 620 70 50
4 13 4v O = +3 -620 70 5.0 4v S = *9 620 70 5.0
2 1 4v0+1 +9 -650 3.0 90 IN N +2 *4 150 40 8.0
5 9 49y O0+1 49 -650 3.0 90 5v S-1 ¢ A -100 1.0 11.0
7 12 4vy O+2 %4 -680 0.0 12.0 4v S-1 ¢ A -100 1.0 11.0




